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3
1. Evaluate the expression [gj .

2l
625

3 >
3. Evaluate the expression 3 [l 3—-(1+ 3)]" X

1215 - ER

5. Translate the phrase “3 times the sum of

y and 127 into an algebraic expression.

3y +12)

7. Decide whether 8 is a solution of 4x + 8 < 15.

£ 9048

No

9. For the relation below, tell whether it is
also a function. Explain.

X y y,e 6
1 4
2 |18
3| 4
4 | -8

11. Write a rule for the function

represented by the table below.

X _/‘I’

0| -5 - -

) y-‘:')x )
@& 5

3 10

4. Evaluate the expression

2. Evaluate the expression 6kn when k = 4 and n = 4.5.

|08

3'-4-8+2
1-4-3+2
3844

(o F A

45 students
9 groups

5 StudenHs
o e

| group

6. Find the unit rate for

8. Write an inequality for “the product of
4 and twice a number is at most 64.”

4(2x) ¢ (04
8x & 04

10. Make a table for the function y = 4x + 1 and
identify the range. Domain: {0, 2, 3,9}

o |l
2 1%

3 13
9 137

12. For the table below, identify the range.

$543.1}

W ra| ~a] = s
— || wo|uvi=
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Tell whether each number is a real number, rational number, irrational number, integer, and/or whole

number.
13. 8.7 14.
15. Evaluate the expression —2 | 6x| when x = —5. 16. Find the sum.
17 + —88
NC NG
17. Find the difference. 18. Find the difference.
4617 Y

- ? 52

19. Evaluate the expression xy + 1 20. Simplify the expression 5 + 8(6x — 3).
whenx=33andy = 7. 5 4 ‘qu_z‘q

Z24.1 48X-19

24-12
21. Simplify the expression 13 + 18 — 15 — 9b. 22. Simplify the expression e .
Ab +3 4-2m
NC NG
23. Find the quotient of %+ i—) ) 24 Evaluate the expression * V121,
3
. x iy - — e
RN /]
2%
25. Solve the equation 14 + 2w = 52. 26. Solve the equation 52 = —3— -4,

B X="12
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27. Solve the equation 18 + 5(2 —x) = 7+ 2x  28. Write and solve an equation to find w if a rectangle has
12 +10 - 5X = T+2.x an area of 24 cm’ with a length of 6 and a width of w - 1.

21=7X 24 = (o(W-1)
X____s 249= LW-

ws=5
Solve the equations in 29-30, if possible.
29.122=8 + 14z- 22 30. 5(d+ 1) = -4 + 94
0:2 5d+5 =-4+ad
no SOlution =4el= =9
31. Solve the proportion.% = z . 32. Solve the proportion % = % ;
25X = 2100 2(W+2)= 1I0W  ZW t9= |ow
4= 8w
ek
X= L0 W= 7
33. What number is 14% of 60? 34. What percent of 200 is 657
% 4 42 WS %59 5%
' 3 =
35. Rewrite 9 — 3y = x so that y is a function of x. 36. Graph the line x + 3y = 12. Label its
=) x-intercept and y-intercept. - -1 &
Y:—a'-)(-j-a o s _iy 3X +4

i !
! !
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37. Find the slope of the line that passes through
(2, 5) and (7, 10).

n = |

-1
39. Graph the equation y = —5—x +4.

=

'-%,

41. Evaluate the function f(x) =- 4x + 2 when x = 3.

14

Not+ AA
43. Write an equation in point-slope form of the line
which passes through (8, —7) and has a slope of 2.

Y+7:-2 (X-8)

45. Write an equation of the horizontal line that
passes through (2, 5).

y+5

38. Identify the slope and y-intercept of

—A4x+3y=9. y,: %XJ-B

4
M=3 b=3

Not+ AA

40. Does the equation x = 7y represent direct

L variation? If so, what is the constant of variation? y = '}-]-X

yes

CON = —,}—

NOt AA

42. Write an equation in slope-intercept form of
the line that passes through (-2, 13) and (3, 7).

- =ie -
y: "2x+b —_ _L.s‘?..

T2 (N+h

b: 535 3

44. Write an equation in point-slope form of the
line which passes through (2,1) and (3, 0).

ms= — =
y-0=-1(X-3)
Y—-, ::"I (X"Z,)

::_):I'mm;mn +
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46. For the data below, how does time affect price? 47. Find the zero of h(x) = 3x — 15.
Girapeinid Prives O= 3)( _]5
3 f;l gl”j
g sap——— 4 | The Pri ce X =k

".. osel of grapefruit
axs) iNCreases
wraaeer | wWith HMe

Prlze ifaliar
L=
("]

o l\i\ '

Solve each inequality, if possible. Graph your solution.
48, =2x+7>7 49 k-4 +k<4k+3

.0 2K-444K+3
i ~2K &7 K7,’]£ (-35 )

I N .
R

-
T 1
g -L=F @ 5 2 8 H ~4 3 -2 =

Solve the inequality.
50. —4<2n+6<16

-|0¢An¢ |0
~B4NeéD

51.1s (1, 3) a solution of x + 3y > 67

YES 0%

52. Translate the verbal phrase “The product of 2 and the sum of x and 8 is less than 4” into an inequality.

2(x+8) ¢4

53. You earned $58 last week at your part-time job and have already spent $32.99 shopping. You want to
buy $5 footlongs at Subway with your remaining money. How many foot]ong subs can you buy?

S footlong cuks
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54. Solve the inequality 12<5n-8<37.
20¢Bne< 45

44n49

55.Graph ‘;he solution to the compound inequality —5 <—-3x+7< 28 .
~TLL*SY £ 2]
? %=
4 x 7 F O |

-1¢ X¢4 =1 -6-3<1 138789 u

56.Solve the equation |2m — 8| + 20 =30, if possible.

2m-8 =10 2Zm-¥=-]10
2Zm-=18 im:=-2

57.Dannon fills their yogurt containers with 6.5 oz. of yogurt. For quality control purposes, they must be

no more than — oz. off. What is the maximum allowable amount of yogurt in a container?

lo. | O
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